
Bella has 9 dolls. 
Emma has 15 dolls.
How many fewer dolls does
Bella have than Emma?

Bella has             fewer dolls.

15 - 9 = 



Dad has 13 apples.  
Some are green and some are red.
He has 8 red apples. How many
apples are green?

13 - = 8

apples are green.



Kelvin had some stickers. He
lost 7 stickers. Now he has 9
stickers. How many stickers
did Kelvin start with?  

Kelvin started with                stickers.

-7 = 9



Mom had 12 pennies. 
She tosses some into a fountain. She
has 5 left. How many pennies did
Mom toss into the fountain?

12 - 

Mom tossed           pennies.

= 5



Kelvin had 13 hats. He gave
5 hats to Jake. How many
hats does Kelvin have
now?



There are 14 sheep in the
herd. 5 sheep run away.
How many sheep are left
in the herd?



Alice has 18 beads. 9 are red
and the rest are yellow. How
many beads are yellow?



There are 14 cats. 7 are
black. The rest are orange.  
How many orange are
there?



I had some pencils. I gave 4
pencils away. Now I have 2
pencils. How many pencils
did I start with?



10 frogs are in the tree. 3
more frogs jump into the
tree. Then 4 frogs jump out
of the tree. How many
frogs are in the tree now?



Bella had 12 crackers. She
ate some. She has 5 left.
How may crackers did
Bella eat?



Kelvin has some crayons. He
gave 9 crayons to Thomas.
He now has 5 crayons. How
many crayons did Kelvin
start with?



Bella sees 16 turtles on the
beach. Some turtles swim
away. There are 9 turtles still
on the beach. How many
turtles swam away?



There are 4 rabbits in the
field. Some more rabbits
come. Now there are 12
rabbits. How many rabbits
came to the field?



3 eagles land in the trees.
Now 12 eagles are in the
tree. How many eagles
were in the tree to start?



Mom picks 15 flowers. 7
are pink. The rest are
yellow. How many are
yellow?



There are 20 ducks in a pond.
Then 10 ducks swim away.
How many ducks are still in
the pond?



8 squirrels are in the park.
Some more squirrels come.
Now there are 16 squirrels.
How many squirrels came
to the park?



Kelvin has three more
books than Thomas.
Kelvin has 8 books. How
many books does
Thomas have?



There are 13 fish in a tank.
Some fish swim behind the
rock. There are 8 fish in front
of the rock. How many fish
are behind the rock?



Mom brings 15 cupcakes
to the party. Daddy eats
all but 6 of them. How
many cupcakes did
Daddy eat?



Daddy has 10 party hats.
He needs 19 hats for his
party. How many more
hats does he need?



Bella has 12 bunnies. She
gives 4 bunnies to her
friend. How many bunnies
does Bella have now?



Kelvin has 11 trucks. Some
are small trucks. 4 are big
trucks. How many small
trucks does he have?



The are 15 children at the
park. 6 of the children go
home. Then 4 more children
come to the park. How many
children are in the park now?


